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30147200/7 Zurzr] uruunp, gnuuhhrurh urr htr UU hrutn 2450 2 4,9
30199792/l Oprugntlg uu Zrutn 800 3 2,4
30192125/r UtunLhn uu Zrutn 140 f 0,7
30199420/1 t Znulh BnLRB uu Zutn 800 20 16

3019723r/7 Surtt UU Srrrh 1100 35 38,5
39263200/7 Qpuruhlrt urll urt htr qhnp UU Zrun 760 25 19

30192130/1 Uurulrur .uu 2utn 100 94 9,4

30792733/1 uPh: uu 2ruu 300 10 3,0

39241260/3 Qpruuhtr3ur\ur3frtr 4utlu\fr urulphp uu Snulr 350 1 0.3s

30192100/1 f}hurfrh uu Zrutn 100 40 4,0

30197230/7 @qpurqurhurb uu Zurur 400 211 84.0
30797230/2 Upruqurltrurp UU Zuttn 100 200 20.0

30792121/1 anh> uu Zruur 60 200 L2,0
30197622/1 fdntqp U4 UU Zruur 2000 200 400,0

30199340/1 2hrupnulp UU Zruu 10 700 7,0
30797t72/7 ll unhlhilhururrl ru1 urnhh urut hn, dhqhtr UU Sm{r t20 10 r,2

301972321r flrlpunqurtt*\, \n2ur! ruqtiml (huruur)
UU Zrun 800 30 24,0

16161 100/3 u11 qrutrurqurh ruS qhqnpbur\ruh
uurppuu]nnmtihhn

UU
uu

Zurur 2000 2 4,0

76761100/4 ru31 qurtluqruh rl3qhqnpbru\ruh
uurppul]npntdhhp

uu Zruu 1000 5 5,0

42737100/1 {rrulrutrtrhp' puur. qnpbrunnttBtrhnh uu Zurur 3s00 6 2t.0
34327127/I uul tnntihphhurhhnh tnq h qurhltrhn UU Zruur 1000 2 2,0
34327270/I ru{urntihphtrurtrhph *n+h*\ruhrugtiurh

hun]rupurbmhhp
uu Zurur 4500 1 4,5

377t1330/1 rlrulnmrilrurhh ut nilut hp UU Zurur 270000 I 27,0
09732200/7 phtrqlrtr, nhqntllrup uu L 450 200 90,0



09411500/1 tfhBrutr qruq uu tunn d 200 1200 240,0

09411300/1 utnnrurutr qruq UU L 240 240 57,6

09t34240/7 nhq b urrhh drunhr hp, rutftunurrhtr UU L 450 100 45,0

0927t1,70/l 2ulFdh)h lnlqhfr uu L 1600 12 19,2

24951320/r hurhruuurnhl hhnnrlt uu L 1000 5 5,0
0927t650/l urpqhlurlh hhqmb UU Zurur 1000 1 1,0

30234620/7 $thZ hlr2n4ntplnr-h uu Zruur 4500 2 9,0
39221420/l funqruhru! ruutruhnr uu Zurtn 2000 2 4,0
3922433r/7 'Im11 r4luruutiruuh UU Zruur 1200 4 4.8
44417757/l urutrhrutrgnllqh Fuph ul runugruhhn uu Zruur 5500 2 11,0

445L1720/r Qnqurplrur\ UU Zurur 2000 3 6.0
30192910/r nqnht hnhqtrhn hruri druuluulhhtrhn UU Zrurn 3s0 10 3,5
4273L430/7 rhurh urtrtrhnh rurndruh hhn UU Zruur 1s00 4 6,0
44423600/I duu{uulhh bqlnr-h uu Zrlur 800 70 56.0
44423600/2 'tln1 |rilhput urpnr-tn druul ru{ hh UU Zruur 450 25 77.25

34221250/7 \qnnrltrhph h !fuuurllonp+hhph iluruhp uu Zurtn 100 130 13,0

1842L130/1 2hnbnq purlll nnrut urtr uu 9nt1q 300 100 30,0
18427730/2 2hnbnq urhtnhurubrutr uu 9rrq 250 140 35.0
78117200/2 trruhr] nprub rutr rupurhruqnluln UU Zutn 5 5000 25,0

181 1 1210/1 trruh{nprub ruh bntiphhhqntr uu Zruur 5 12500 62,5

r844rt90/r 'thu2uru1ruhhl qr tuurnL utt ruutntluruh uu Zurtn 5 2000 10,0

33747729/t 'tlu2urul ruhhl +hilru! rq 1 ruuurtiuruh UU Zruur 5 2000 10,0
1842t130/2 trurhr] nnurll ruh &hntlq uu 9nttq 20 400 8,0
78421130/3 Ghurqhnurnnn uu Zruur 5 1000 5,0

18100000/1 .Frulll npurb urtr h nZhh UU 9nttg 2 6s00 13,0
18100000/2 -Furhrlnnurh rutr tnrhh nhurhhh uu 9nr-tg 3 3s00 10,5

18931730/1 'tlurnh uhurhuruhruh UU Zurur 100 250 25,0

33767100/1 9mg.Bnu1p UU Zuur 90 1200 109,0
r842r130/1 2hntrnq pdzhurhrutr UU Zuur 30 800 24,0
42731r00/2 @urhurh 4nruh UU ^l,ruur s000 5 25,0
42137700/4 anurh rhrubruh hhnphtr uu Zurur 8000 2 16,0
42137430/7 rhrub ruhtrhnh zrundrub hhn uu Zurtn 2000 4 8,0

33141118/1 Uh&hnnqhh uu Zunn 200 85 17,0

39574400/l flqplur unph) UU Zruur 600 40 24,0

39837282/r hurhmtptiurpnhl nt t rup UU Zruur 160 85 13.6

39831240/r rlurpnnn trtmBhn uu Zurur 350 40 14,0

39831242/7 trlruqph rhnzh &hnpnrl trlruhrutnr hurtirun UU Zuur 400 30 12,0

L9647000/1 ulnl hhpht hhruthh ulunl-I, rrrnph hurilrun UU Zuur 600 15 9,0

39837283/1 hunnurhh t r]urqilurtr t urB uu Zruur 760 35 26,6

39831247/1 Qhnph odun UU Zunn 100 300 30,0

39831240/2 rlrupnnR htnr-Bhn UU Zurtn 260 110 28,6

39831245/1 Zhnnr-b odurn UU Zruur ss0 46 25,3

39221410/1 Urlhr uu Zrurn 1000 20 20,0

0311r2s0/r trrurlpurh uu Zurtn 200 s00 100,0

39831240/3 tiurpnnq htntphn uu Zruur 570 7 4,0

34927440/r prurlrntrtrhllr It uryb tnrupurtrhp h
urRpuniuhtrhn

uu Zuur 3000 1 3,0

30192790/1 @rullrupfrphrl UU @ruB 1000 5 5,0

79241200/1 hrurlunl np qnpb{ rubphhp uu u 600 15 9,0

37277740/1 ht.urultuhmlh) UU Zrutn 3100 40 124,0

39727s00/l Srupurontcfry uu 2uun 6500 I 6.5

39721500/2 Surpurgmofr) UU 2ruur 27000 4 108,0

38437570/7 ht.uurthlt UU Zrutn 6200 15 93.0

38437570/2 hr.uurhL qZ Zrutn 15000 30 450.0



31686000/1 tuFtg UU Zruur 350 18 6,3
3t53t710/7 tlnnuh lntuururn{r uu 2rutn 900 10 9,0
3I2tr1B0/1 h. Uhpruulh) I urhrturhh UU Zrutn 1000 45 45.0
31211180/2 Urluntftuur rutrgururfry 25A UU Zrurn 3000 15 45.0
37271180/3 Ur]unttruu rutrgururhl hnru$urq UU 2unn 7000 8 56.0
31271780/4 Urltnntiruur rutrgruurhlh urnrrh. uu Zruur 4000 2 8.0
37271180/5 U{urnilruur ruhgurtnhlh tnmrh 6 uhn UU Zruu 3500 4 14.0
3727tt80/6 Ur]umrirutn uhgruuh)h tnnr-rJr 12 urhrl uu Zurur 4000 1 4.0
372LtrB0/7 Urlurntluru urhgruurhlh untrh 3 urhn UU Zurtn 2000 1 2.0
37s12360/r lntuup&ur\bhn UU Zuur 4300 31 133,3
3r2r1140/2 ht. Uutulhrr,lh) UU Zruur 2700 t2 32.4
44747200/1 ht.rnqruhrult uu Zurur 550 18 9,9
31327200/r h. Lurn UU u 250 400 100,0
37684400/7 ht.rlrun+ruh UU Zunn 1000 75 75.0
3rsr2430/1 ht.truilut uu Zuru 120 370 44,4

44521230/2 UdnuhrrunhN6 UU 2ruu 10 100 1.0

31683400/1 bnurpru2|uf2 tilu1 - % UU Zruu 3500 13 45.s

31683400/2 bnurpur2|u1y ri/ur UU Zuru 4000 10 40.0
31687000/1 Ulrqntil {/u - 1/z uu Zuru 1800 34 61.2

37572360/2 Lh4lmurun&ruh uu Zrutn 4800 36 172.8

3rs12360/3 Lh4 I nturun&ruh runuutnu4 fr uu Ztuut 10000 3 30.0
39837245/2 Zhrtnr-q odun UU Zruur 2000 1 2,0
39774220/7 Oanpru\|r1 qZ Zuu 250000 I 250,0
39714220/2 O4npru\|r1 12000 BTU q2 Zruu 220000 1 220.0
42911150/1 O+urhnlumplruh qrrrhq uu 2urur 1500 6 9.0
33631282/I hur\urpru\urhpfun1 ilfr2n gtrhp'

lrl urpFhpru\ uh oquuqnpbtftutr hrudurp
UU Zruu 4500 3 13,5

24971200/7 hilnt1u[ru uu Zurtn 3800 6 22.8
444t7750/7 Urubhrutrqnr-l gh glrtutnurn UU Zurtn 5000 3 15.0
44410000/r Uh$nhh qlluhb uu Zuur s00 10 5,0
444L0000/2 9ntqrupuhu\nLplr ulr$ntr(qn$ph) O 1 00 uu Zrutn 2800 2 5,6
44410000/3 9mgrupruhruh nhph b rurlrrunhl UU Zrutn 5000 5 25.0
79241200/r Uu1 urlq hpruilpur! 1ru qnpbrl rubp UU Zurur 4500 5 22.5
44831s00/1 Lmbh) 0,5t qZ Zruur 800 42 33.6
38471200/r ht.phptiru)ur+ UU Zurur 6000 3 18,0
4294rr60/3 fdhprlnuurutn uu Zrutn 13000 4 40,0
31 150000/1 h.Bnnrunhhl UU Zruur 2500 11 27,5
44810000/2 hhnh uu Zuru 3750 I 3,8
42771210/1 Uhqtnnilh ururht UU Zurtn 400 20 8,0
4417t100/1 Zururur\fr uurtrll qprutrfrurh 60x60 qZ Uhtnp/p

lUn.

8000 130 1,040.0

44t67240/l &bmh tunnnrlurh uu Zruur 1200 64 76.8
24911600/1 unufrh&' ilntihhur uu Zunn 1000 6 6,0
24971600/2 hrqopuhtlrtr unufrtr& uu Zrurn 1500 2 3,0
24971600/3 Ururhllh unufrtrd. K 17 qZ u{uFll 4200 60 252.0
24971600/4 Unulrtr& 

--Zhrtntb ilhtu uu Zrutn 2300 20 46.0

43221100/1 €uruhrupplry uu Zurur 1300 5 6,0

39221480/1 9mqrupruhru\nhpfr ]unquhru\ UU Zuu 1000 2 2,0

43677790/l funnn{rullh bguduru uu Zuur 500 600 300.0
447t1476/l Lhnh drubruururrhtr qZ Zruur 21000 27 441.0

44471300/r I-r]ugrunruh uu Zuur 28000 8 224.0
4447t300/2 L{ urgunurh hp! urhqurbh UU Zurur 35000 2 70.0
44471300/3 Lr] rugunruh b hnruilhtr urll rutr ntnpml UU Zrutn 20000 3 60.0
37711250/7 'tlnr hilhnulhh dh ruhnn nrlruh uu u 400 270 108,0



44771413/L Lhnh rmnrutrhnh uu Zurur 3750 4 15,0

44t17413/3 3nr-nruhhntt qZ Zuur 8200 10 82.0
4471r473/2 3nqruhhnh uulhtnruL uu trq 2162.2 3.7 8.0

44810000/1 Lhnll lruurhpu UU Zruur 9500 10 95,0
44927500/I Ohrhrutftubhh qz 'Ihunh 4500 30 135.0
44921500/2 Ohrhrudrubhll llu{ dulhh qz Qrunh 6500 15 97.5
44927170/7 Qhruu 2rrrnruh qZ 'Thunh 2400 30 72.0
44792400/l Qruq qZ 'Thunh 1300 15 19.5

441t1200/I Shtlhtrtn qz ,tIrup\ 3000 40 120.0

t4211100i I Urlruq qZ fhupb 250 160 40.0

44110000/7 Cnhzurb ultrxuurhU q2 Zrutn 750 40 30.0
44r10000/2 Cnhrurbh Lquiluruhn urruruuhh q2 Zruur 100 60 6.0
42737230/1 Oruhruh qnh uu Zurur 2300 40 92.0
42737230/2 9nhrlrrubruhchnhbrudnn 7+ 4m1tf UU Zrutn 3000 I 3,0
24911200/L Unulrtr& uullhhh uu 'Ihunh 4200 40 168.0

42t7r2IO/I Urur hh hnhuuru rurndruh UU €urn.tI s600 70 392,0

42657200/r 'I1mph1 uu Zrutn 10 1400 14.0
44161240/r funrtntlurlf il/uf UU U 360 200 72,0

44761240/3 &!mtr funtmlurb UU Zruur 1000 2 2.0

44531760/7 ttlurmtnrulq UU Zrun 4 3000 12.0

4453t160/2 'tlurnunrul-1 UU Zrutn 10 1400 14.0

44311150/1 ilhuluq ru! ruh qnpbrlrubptrhn UU Zruur 50 400 20,0

39191 100/1 Qhrqu utnrlurpurpqph urrrl hU q2 Zruu 4500 25 TI2.5
42731490/I Uh$nh uu Zruur 1500 20 30,0
44771417/I Lruluruhhnll UU Zrutn 3200 10 32,0

4447t100/1 Onprull UU Zruur 3000 20 60,0
444t1100/2 Onnurb trlruqrunrutrh 1 urhrl uu Zruur 3s00 1 3.5

44411100/3 furunhht bnnurh trlruqunurbh UU Zurur 15000 2 30.0

44521120/7 @ruhtuh 4ntutr UU 2rutn 2000 7 14,0

377t7250/r AqP bnnmlruL uu ^l,urur 600 60 36,0

42991470/I .1-I.{P hnrt ml rrrb h b quriluru UU Zuu 360 160 57.6

3r717250/2 qqP hnrn{rub O50 2il uu Zruur 1000 30 30.0

37771250/8 Uhururqrur4lruuurh tunnnt]rub O20 UU Zurtn 1000 100 100.0

2437It20/7 rrrunphn uu rrc 8s0 30 25.5

14810000/1 Ztlh*futttqfu UU u 2000 25 50,0

14810000/2 'Thuurfr rutrl1 1nr-tlul1 qz Zurur 250 93 23.25

19642200/l Anr hhphr hhrurhh pruqrutrp uu Uhurn 250 30 /.)
14810000/3 &urphpfr gurhg 5uilx 90ti qZ Zruur 1s00 t0 15.0

44337400/r nlnn$ht F47 uu Zruu 800 t2 9,6

44337400/2 nlpn$ht F47 q2 Zrutn 1000 10 10.0

42t37470/I Onprullfr d[9ntt1 ,uu
2urur 400 20 8,0

42737470/2 anuh rhububh tifrgnt! Tutt uu 2rlur 1800 4 7,2

4476317r/7 9pruhhnrugilurtr updmtr! F 1 50 uu Zuur 5000 2 10,0

44t76200/1 ,- I.rurihtnuqd tub'IU'|'I UU Zruur 31000 15 465,0

44777700/r I-ruilhhurd qurb 'Iq'D UU Zruur 4300 10 43,0

30t92233/r UhrhLntr UU 2ruur 1000 10 10,0

39147770/7 Uhqurhurbrublt uu Zurur 27500 6 165,0

39831283/r Zrutnurbh truB UU Zruu 1000 2 2,0

18841300/1 Olulth uu Zurur 200 70 14,0

44779100/r Lppruururtuurrub uu Zruu 4200 I 4,2

44111412/l Utrurhhnn trhnh UU Zutn 3250 2 6,5

39299200/r Uururhh uu Prun ti 7500 10 75,0

42671740/r hthLurnnn uu Smrh 3800 4 75.2

42991420/r 9nh $hrurn uu Zruu 11000 5 55,0



3s111190/7 @nrhntn rhtrtunrunurh ruh UU Zurur 2100 10 21.0
39812100/1 Uubhh uu Zruur 4100 3 12.3
39757220/7 9urhnqph Uquilulu UU Zruur 2000 4 8,0
39L51220/2 lruhmlplr rfiuuhp uu Zruur 1600 30 48,0
44792630/1 Zhntntu UU trc 1350 6 8,1

3019723r/l 'tlnt hhBht htrurthtr Brun ruhB UU qbil 200 25 5,0
44792630/2 ZhRrnru-rfrutrhb uu Zruur 30 200 6.0
44423657/1 fFhurhtrh BhnBhn UU Hc 2160 40 86.4
44237200/7 @ruturh )nnunl UU U 4so 45 20,2
39197400/r Zururru\|r brub\m3p UU €run.rl 1600 350 560.0

44527230/r'- Uilpur! UU Zruu 40 200 8,0
31771250/3 funrtndurh ilhuruRtru uu U 1200 100 120,0

3t777250/4 Uhuurquulluutnh lorqr.l*q 16ild, 95

ruuuhdrutr
uu U 400 20 8.0

3t7t7250/5 tlhururqunrll uruurh utrqntil 1/2 UU Zuru 2000 2 4.0

37771250/7 U/ul urhqmti UU Zuu 3000 10 30.0
33621290/7 Uaphhurlfrh UU Smrh 1s80 1 r,6
24327660/7 Fhurtnur rurihtnh+ q2 Smrh 68314 4 273,3

33691t29/t Lrutnnhnr-dh ptnnhrt UU Zruur 450 2 0,9

33691129/2 9rurqhmilh prnnhn uu Unrlruh 90 20 1,8

331417t4/7 fatubqhg uu u I20 30 3,6
33141710/7 .{hprubruul uu Zrun 200 60 12,0

33691390/r 'tlhqhtn uu Zruur 21500 2 43,0
18141 100/1 thntrnq qtrtrtftutr UU Snuh 2000 16 32.0
33691133/1 Qmn unuhtlurtr uu Snulr 200 10 2,0
33741142/7 Lhnunhhl UU Zruur 50 30 1,5

33767260/1 Uhu1]rqf rnruFtu uu Zuru 100 10 10,0

44792700/7 Lhnb urnrunrub ruh gl ultr UU 2ruur 1800 6 10.8
44192700/2 Lhnbrunruprub urh gl ultr uu Zuur 2000 10 20.0
44517340/2 Qru11|r!nh uu Zruur 1500 3 4.5

39227460/1 Lhnb urnrupru! rutr rl n&htr 'uu Zrurn 700 6 4.2

39221460/2 Lhnh urnrunruh ruh rl n&hh uu Zruur 1000 5 5.0

374s7640/1 rturnnq uhrur]runurh uu Zurur 1200 80 96,0
14527777/1 Znhrupurn uu Zurtn 3000 1 3.0
1452777r/2 Upupurp UU Zrun 1000 2 2.0

18311790/1 fuutuB ull UU Zrutn 6000 1 6,0
18311790/2 fuurlrup Luulntttn UU Zruur 4000 I4 56,0

18311790/3 furulrula uqhtnurh uu Zruur 3500 62 277,0

181 1 1200/1 trruhr] nnrulr urh rupururhruqnluu uu rrnilut 12000 9 108,0

18311790/4 trruhdnnruh urh turut ruB uu Zruu 3500 110 385,0

18311790/s fuur1 rup rfh! rutrqrurltur UU Zrutn s00 10 5,0

18311760/l tr.ruluhr uu Zruur 25 200 5,0
18447100/1 .Fd2\rulurtt qthrunll uu Zruu 25 200 5,0

33747729/r 'Ihtiurb pdzbrubrutr uu Zruur 18 800 r4,4
03320000/1 UntL lruFnnrurnnn UU Zuur 1000 540 540,0

03321800/1 &ruqrup UU Zurn 11000 10 110,0

03320000/2 Unhhur UU Zrutn 1800 200 360,0

44771450/I Unrup! rulru! urtr urul ulU h uu Smrh s40 20 10,9

44777400/I Lntpp ppnilntnnqnu$ BhBhn q2 Smrlr 46000 3 138,0

42127750/1 9pfr qntfq UU Zruur 25000 1 25,0

331 1 1 100/1 fthtrtnchh lunnnrlruL qZ Zrutn s45000 2 1090,0
42721420/7 9ntiulphunp UU Zurtn 22000 1 22,0



3I71L330/2 I-rupnpruurnn r]rubnntil ulnilul q2 Zrlur 220000 1 220,0
r599L700/r $hl*nh pmqla q2 9q 3200 10 32.0

24321660/2 Snlnr-n1 qZ L 1600 40 64.0
24327660/3 'I[tf huf$npilrudfr4 qZ L 1900 40 76.0

24327660/4 trul 
f rntil|rhlrapnpulra qZ 9q 1190 50 59,5

24321660/5 €rnnn$nnd qZ Irq 2500 60 150.0
24327660/6 Zhpuruh qZ L 2400 90 276.0
2432t660/7 Ughtnnh qZ trq 938 548 514.0

24321660/8 'IhhBhrhBhn qZ rrq 6400 277 1772.8
1591 1 100/1 tr d2\ru\ruhuqfrptn 9 60lo UU L 900 592 532.8

24327660/9 $m\ulrh hlnfhurl]rh(h[uurnlnqfnl\rutr h
hlruumpfrilfur\uh hhurruqnumplnttrlthnh
hrutirup

qZ q 75 100 7.5

24327660/10'-- UhfuhU"ttullhL qZ trq 50000 27 1350,0

24327660/71 rrurt hmrlurbtuurBBd ruh urtr / il (ul nururr) qZ rrc 800 50 40,0
24327660/72 trhhqnr qz L 3000 400 1200.0
24321660/73 qrf\rohlhhqfr\n1 200 qZ q 80 250 20.0

24327660/74 Arilrhtohlhhqfir\n1 4600 qz q 248 250 62.0

24321660/t5 Uhplrlhtr ptnpb+ qZ trq 1000 50 50,0

24327660/16 Shurp uhfr4pnulfrprutr qz L 120000 2 240,0

2432L660/17 Uu\upfu qz Vq 10000 7.7 77,0

2432t660/78 Purnuplnn urbturubhh qz Irq 10000 16 160,0
24327660/79 UuLrunhrt , slz 9c 10000 2,85 28,5
2432t660/20' Zhthmri uhntirlrub qruq trU tunn il 58928.5 28 1649.998
2477t160/7 Uqnur qurq qZ funn ti 1000 29,4 28,4
24771120/7 Zhqnt\ hh1|rmrt trU L r4400 650 9360.0
247tr170/1 Zhrtmb uqnln qz L 400 2600 1,040.0
24117180/1 faprlrubhh gruq qZ .Furlnh 3500 50 175,0
24327660/27 Snhhphr oppn$nprihruu qZ Ur 39,4 500 19,7
24327660/22 Snhhphr oppnruohrmurn qZ Ur 265 100 26,5
24321660/23 $nnrirurlhrt 9Z 9q 53600 0,5 26,9
24327660/24 Zhrrnurq hh rinhnhhnnurur qZ 9c 80000 0,5 40,0
24327660/25 hqn-$purlruppnr- qZ rrc 36585 6.3 230,48
24327660/26 fahutihbpnntihn qZ rrc 100000 3.5 350.0
24321660/27 q]rilr (.th.ihfultt_-ufrlopuruh) bru3pur3frtr

hfr4popufrl furlphpntl

qZ g 430 500 215.0

24327660/28 a]ttt (+h.Ihroht-ufrlopuruh) burlpru3frtr

udlrtrnulpnuthl turlrhpnrl

qZ q 1750 200 350.0

2432t660/29 N,N- alrtihplrl rurilrhnphtrq ru1 ahhlra qZ q 763.63 275 210.0
24321660/89 -- 4-rlhplrl urohurn$htrntr -95olo q2 rrq 0,5 200000 100,0
24321660/90 2-shbr nhhpuhtr- 1 - OL-95o/o qz q 10 20000 200,0
24327660/9r hphrruqhlmurn qz Lhurn 50 1s00 75,0
24321600/I trhhqfralrh qZ trq 300000 2,0 600,0

24321600/2 trhbqlA$r +t'hhtFnplnpfrr1 qZ Vq 250000 1,0 250,0

24327660/26 'Illrpurqnl qZ q 1500 100 150,0



24321660/27 7,2,4 -Shnruqnt -CzHsN3 98olo qZ q 1020 100 102,0
24321660/28 Ur hr pnnt[hn-CsHsB r 97 o/o qZ Ur r20 2so 30,0
24321660/29 'Ilpnrqrupqhl fpntilr4 CeHeBr8Oo/o urnlnmflr

lntbmlp

qZ U1 600 250 150,0

24IIIT2O/L Z\Jrmti prulnhml99o/o qZ Zunn 320000 1 320,0

24321660/30 Qhnnt C4HsN98o/o qZ Ur 600 500 300,0
24321660/37 Uchtnnhlrnnhl CzHeN99, 8olo qZ L 125000 2 250,0
24327660/32 Lppur2hpur ppmfntnnqpru$|rur1 |r

phphqbhn
qZ St.t 200000 1 200,0

24321660/33 Splrouilfrnrilfr anahll urnphLnl 98o/o qz q 490000 1 490.0
24327660/34 'Ihhphr htrcr hhnr h rlntrntlhBhr hBhn 99olo qz Ur 50 1000 50.0
24327660/35 5, 1 0, 1 5,20 uhurpur$htrh1 rqnp$hnhtr 98olo qZ q 8400 25 210,0
24321660/36 5, 1 0, 1 5,20 (urhrnpur-rqurpru-urlflr1)

runnShnhh99o/o

qZ q 7500 25 787,5

24311320/7 Uurtrqutrfr II plnplr4 MNCIz 98olo qZ g 1080 25 27,0

243r1320/2 Ppntilr II plnpfr4 CrCIz9So/o q2 g 2200 10 22,0

24321660/37 ,-' Shurnruhhlnnphn$hh, 99o/o qZ g 330 100 33,0
24327660/38 3,4'Ilrp1 nppmBhtr - 1 C+HsClz 98o/o qz g 340 100 34,0
24321660/39 5hu-1,4-'Ifrplnppmphh -2 CaHoClz 95o/o qZ g 3000 25 75,0

24321660/40 1,3-'Ihptnppnrphh -2 CaHoClz 95o/o qz trq 3400 10 34,0
24321660/41 qhp"tt+htr C+HqlrI 99olo qZ Ur 232 500 116,0
24327660/42 Uhnnrhtr CsHaO 90olo qZ UL 60 500 30,0
24321660/43 Uhhhnnnh qZ 9q 30000 2 60,0

30237490/r Zrutirullupqh:-Untthpop 4Gb 500G 2 1.5 qZ Zruur 300000 1 300,0

32420000/r .rgtrp+fr2WIFI qz Zurtn 15000 I 15.0

302372OO/t I urtl Lutl urn q h f q2 Zuu 280000 1 280.0

30237 412/7 Zurilru\rupq:ul bb r'illhfrll qZ Zrutn 6000 1 6.0

30237 460/t Zruilru! runq)ul hb uurhq tnu 2rup q2 Zruur 4 4500 18,0
24321660/44 'Ihrphnurgq ub rlhilhpht urr1 $opufr4 q2 Hq 1500000 2 3000,0

24321810/1 'Ihlphprug.lub plnpn$npti q2 rrq 285000 2 570,0

44171400/2 Lrr.pp ppnilntnnqpur$ phphrl q2 Smrh 200000 1 200,0
24327660/45 'Ilrplnpfpurtr .sz ttq 2400 25 60,0

18931230/1 'Ihqruurnr-rlr uu .hurur t7 10000 170,0

18931230/2 tlhrputnntrlr UU hruur 34 3500 119,0

39sr5410/r Chpuru{ruFulqnr-lF uu il[ 12000 30 360.0

4296ITLO/I Unttnpfrhu\nqntpS ru hhurilru\*n q uu hruur 165000 1 165.0

35121320/r tnhuurlughq uu hurur 20000 I 20.0

32333400/r Shuruqpmp3 mhpqpruhgnrlurupp uu huu 100000 1 100.0

42961110/2 Unrtnpfrhu\nrlmpyu hhrudult*p q UU hruu 30000 2 60.0

18451 100/1 trndu\ Uu hrrrur 1000 2 2.0

2245rt70/r Uur q trfruur\ur trp urptn UU hurur 600 15 9.0

31ls1120/1 U trluunluuhuhntgdru trurupp uu huru 30000 2 60.0

42131100/3 @rul1uh (rftuqhfruru\ruhrlrur\*tt) uu hruur 23900 2 47.8

44322100/l Uurlmlu UU ilhurp 200 20 4.0

3r22r220t1 Smrlrriur1ntfu frhruilurp uu hruur 400 18 7.2

32333400t2 S huurqpntp3 nttrpqpru tr g nrlurupp uu hruur 35000 1 35.0

30232231/r.- trn2uu\ru{runur\ uu hruur 30000 1 30.0

35r2r320/2 tnhuulug[\ uu hrutn 20000 1 20.0

31151120/2 Utrmgtiurtrurupp UU hrutn 10000 1 10.0

44322100/2 Urulmlu uu tihurp 200 12 2.4

44322100/3 Uurlnrlu uu tihurp 200 1 0.2

44322700/4 hlrirulntlu 2x4 \1np UU rihup 700 45 31.5



44322100/5 ,- hltirulntlu 2x2,5 \ttp UU tihup 3s0 100 35.0

44322100/6 {rfurlntlp 4x4 UU tihurp 1000 20 20.0

31221220/2 Sm{rilrulntly}rhrudrup UU hruur 400 6 2.4

302lrr90/2 Uh&hu\ru trhrutiruh*p qh2 qZ hrutn 255800 1 255.8

30232130/1 sql': qZ hruu 131000 1 131.0

30239r30/2 Sqh: purqriurSmtr\glrnhrul qZ hruur 150000 4 600.0

30239r30/3 Sqltf luqhpru3]rh urupph hp\\nqilurtth qZ hrutn 180000 1 180.0

42777270/2 Urut hh hphuunrl urunftutr UU Purn.il L2521 2.16 27.045

3I711160/T hltlf*n"+ uu hruu 180000 1 180.0

24321660/46 Zhnnru q htrilnhnhhnnuru qz gnulil rt2 s00 56.0
24327660/47 thtluqhururihn qZ qnuril 184 500 92.0
24327660/48 h q nr] urt hplrrutrurppnr qZ ilr 352 500 176.0

24327660/49 N,N-'Ihilhpht rutihbnhphr ruilhtr qZ tt1 680 100 68.0

24327660/50 N,N-'Ihdhrahrhhnnurqhtr qZ gnuril 9000 47 45.0

24327660/51 UhBhrhhnnuqhh qZ qFlxil 1240 25 31.0

24321660/52 3-Zhnnopuh phtrq nurb uhBBnt qZ qnurd 420 100 42.0

24321660/s3 3 - Zh+nopuhp hhq rur rrhhhrl q2 clnruil 580 100 s8.0
24321660/54 (-) lrfr\nurfrhlr hfraprun >99o/o qZ qnruri 10600 25 265,0

24327660/55 LhhnthrupBnr--99o/o q2 U1 2950 100 295,0

24327660/s6 Snh$hbhr $nu$htn -97o/o qZ 90000 I 90,0

24327660/s7 P, P -4[p1 nn$htrhr $nuShh 97olo q2 U1 320 500 160,0

24321660/58 h1h\urpru\*lt uru1Jr ll pfnilrur\ruh
EurbhnttBml

qZ Zurur 800000 5 400,0

3r771330/7 .{urbnr-nr-rf ulnilul q2 2urur 220000 3 660,0

33r4r2LI/1 I-rupnpruunF 2tnrunlrrl qZ Zurur 20000 15 300,0

3831 1 100/1 h1h!tnpnhulfhll2hnp uu Zrutn 80000 1 80.0

3831rr00/2 h th\rnpntnll |rtr\2hnp UU Zuur 200000 1 200.0

2432t440/l Pu gurluurppnl uurn gur3 ]rh qZ \q 1000 80 80.0

2432t660/59 Uqntnruhruhrarant qz bq 1400 30 42.0

2432t660/60 Uhurqhprnnh4 qz hq 15000 25 375.0

24327660/61 URrularanr qz hq 800 350 280.0

24327660/62 '' Uhphrhh plnnh4 qZ 9q 1500 50 75.0

2432t660/63 UnurBBnr qZ Vq 300 90 27.0

24321660/64 .{urLm:nil tnu qZ t 2200 40 88.0

24327660/65 Obtipruhruh BBnt qZ Vq 300 70 2r.0
2432L660/66 hBhrhtr crhhnr qz

L 1s00 40 60.0

2432t660/67 'tlnrhilhnuuhh unrlurh qZ Zuur 50 1000 s0.0
24327660/68 Lruurnhnr-ilh prnnhnh rnr-bmrB 3r qZ t 1300 3 3.9

24327660/69 Lruurnhmrih prnnhnh rmbntrp 3r qZ 600 1 0.6

24327660/70 9rut hrr rl urbhrupBr] rub rutr qZ rrq 1s00 150 225.0

24327660/7t 'IhilhBhr hBruhnr rutihh q2 L 3600 300 1,080.0

2432t660/72 UruBurBBnt qz 9q 6000 150 900.0

24327660/73 UhBhr rrnnrurhh q2 9c 60000 200 12,000.0

24327660/74 Snlmll qz L 1500 250 375.0

31s31730/1 Lmuruil rlrnrlruhrlu trlr uu hruur 10000 I 10.0

24321660/75 $hq.lntbntlp UU L 700 10 7.0

2432t660133 Lppru2hpur ppnilnurnqpurSlrulfr

BhBhntrhn

qz Sr.t 1 10000 1 110,0

30211200/7 'I3 ntpur\]rp hurtf ru\urFqh: qZ hruur 3s0000 3 1,050.0

39221130/t trurdurll 50il1 prup&p trfr2ml uu Zurur 800 L2 9,6

3922tt30/2 trurdrub 600dr purp&n hhzml uu 2rurn 2000 6 L2,0

3922LL30/3 trurdurb 3000rir qurbn trhrml uu Zrutn 9000 4 36,0

39221L3O/4 trrudub 50tir gulbn trhzml UU 2urur 600 7 4,2



3922LL3O/V ,Fuduh 100dt gulbp trhZml uu Zrutn 800 5 4,0
39221130/6 .Frudrub 50rft qubp bhznrl UU Zrutn 1200 3 3,6
39227130/7 trrudrub 600ilt gurbn Lhznrl uu Zruur 2000 5 10,0
3922t73O/8 .Frufiub 600ilr Frup&p hhzml UU Zuru 2000 2 4,0
3922LL3O/9 trudu\ 1000tf1 gurbF tthZ.trl uu Zutn 2s00 6 15,0

3922Lr3O/10 trurdu\ 2000rI1 grrrbp tthZtr,l uu Zruur 5000 3 15,0
39221730/11. Qprh l 0ri1 urq rullrunrnlr\nr] uu 2ruur 800 3 2,4
39221130/t2 Qputr 25rI1 ruq ur\lurntnfr\nrl uu Zruur 900 3 2,7
39221,130/13 Qputr 50ti1 rur4rulllrunurfr\nr] uu Zrutn 1000 3 3,0
3t67ttjolt 9lnpruhruuruq hrp* 1000tf13 uunp.

29/32-7423
UU 2ruur 7000 2 14,0

31,67I\OO/2 9lnpurhruuull hrp* 3000d1 3

urnrp.29132-14/23
UU hutn 13000 4 52,0

3t67rroo/3 rr1 npruhruuulU bnl put 5A|1 74/232rh$nrl uu hruu 1200 3 3,6
3L67LLOO/4 Vlnpruhruuurb hntpur 100ttt 74/23nhgnJ UU hruur 1500 4 6,0
3t67trools trnthqhtrlr Lnt pru 2500tir uu hurur 8000 2 16,0
33Ltt2ro/r Suh&|rl1 N3 90ri1 uu hruu 500 5 2,5
33tr1211/2 Surtr&fr! N0 UU hrurn 300 5 1,5

39221420/t fu nq urtrurll rJrnp&rubnphrihb UU huru s00 10 5,0
3922t42O/2 fu nq rutlull rlrln&urtrnphrlrnpn uu hruur 300 10 3,0
38s9r2}0/t 'tllrrqhtn rlrnrlrnfu urh -lt brurl ur1 |r 1 0- 1 00il! 1 uu Zuu 25000 2 50,0
38s912O0/3 Alrq hur'Ilurutnhpfr4l uruurriruuh 3r[1 uu Zurur BO 30 2,4
3843L720/1 Orulpurlru1 0-200 ilbt (rlhqhh) UU Zruur 6 2000 12,0

38s9120O/2 Quqrup d:7.5ut[ uu Zruu 1000 7 7,0
38s91200/tt 2urqup d:7.5ur.[ q 

1 
ruutntfruuh uu Zrutn 700 3 2,7

38s9r2OO/3 Qruqrup d:10ud uu Zruu 1000 7 7,0
38s91200/4 $hturn Gnurlr d=4uil uu Zuru 5250 10 52,5
38s91200/s Qurqrup d=4uti uu Zurur 400 4 1,6

38s9r2OO/6 2ruqurp d:6urf UU Zruur 700 4 2,8
38'9L2OO/7 2ruqurp d=9urful I ruuurtiuruh uu Zrutn 800 3 2,4

38s9120O/12 Qurqup d=5udul I ruuurluuh UU Zrurn 200 3 0,6
38se120O/S 2ruqurppurdrutrlr2 q'I-3 500tI1 ft ntrmu) uu Zurur 7000 1 7,0
38s91200/9 2urqrupprudurtr[y q']-3 1000rf1 (\nhmu) uu Zurur 7500 1 7,5

38s91_20Olrc trurdurtrfrl&ruqrup 2000rlt UU Zruur 1s000 2 30,0
38s9t201/L L2urupfrpnhh) uu Zruur 1500 5 7,5

38'9L2OO/2 L2uuupfrh urptrq qt lohll lthp UU Zurtn 25 100 2,5

3924L260/L Orhhlfr L-145ild, Witeg uu 2ruur 2000 3 6,0
39241260/2 Ortrhfr L-200dil, Witeg uu Zurur 4000 3 12,0

38s90000/1 Ulrru hqrud3 ruuu3 phplrpn tr[r:- uulurp urtn
MC-2 rifr! pnurntilrhruriurp

qz Zrutn 250000 1 250.0

38s90000/2 hqnSlrpulohd - 1 I hplt*pEpru{nr-Sh:nq
(130ttr)

qz Zruur 220000 1 220.0

38s90000/3 Uruqtrfuru\rutr ]uunblr2fr tftuqtrfru 2uti qZ Zrurn 2000 2 4,0

38seooo0/4 Uruqhlruur\uh luunbfr2]r ilruqh]ru 3uti qZ Zruu 3000 2 6,0

38s90000/5 Uru qhlruur\ru h lurun trlry qZ Zruu 80000 3 240.0

39L21.LOO/1 Qpruuhrl rutr 2 u1 ruhrunurhhb nrl uu Zruu 50000 1 50,0

39121100/2 9pruuhqurtr 1 qruhrupruhJrllntl UU Zruur 40000 4 160,0
39LLLL8O/L Upnn qpruuhb3u\urlfrh tt-Z.lh

qruuururnnr]
uu Zurur 1 1000 15 165,0

39tttL8)/2 Znptlurl;rurlnF rupnn uu Zrutn 30000 2 60,0
39L383r0/1 trruq\rupnn qpruuhhyl\urllrtr \ur2rlh

uluruununnrl
UU Zruur 60000 1 60,0

44423200/r Uurnlrdurtr uu Zuru 25000 1 2s.0



397ttL Olt Urun tnuprutr ! htr guq url frh qZ Zrutn 220000 7 1,540.0

3971L1.4O/2 Urunhruprutr \ htr gurq ru1 frh qz Zruu 250000 1 250.0

4241s220/L Ururt urt 2 rutrlrrlruhlr UU Zrutn 2s000 I 25.0

4422L\OO/t 'Ilunnmhrutr urt t mrjhtrh q2 Purn.il 39050 49.4 I,929.07
4422LLOO/2 Ulr gruuruul lu2uul ultr qurhq qZ Purn.rI 7700 1,3 10.01

44221.100/3 tlnrn urttmrihtrh qZ Purn.il 48000 13,8 662.4
44L923O0/t 'thuunthutllqng u1 1 uruuhb h qZ q/il 6300 20,64 130.032
4441.17 40/ r 9ntqurpurhur\ntrp UU Zrutn 30000 2 60.0
44221140/1 O4ruhonh 4nhur! 30x40 uti UU Zurtn 3000 1 3.0
383LLLOO/1 92hnp LrrFnFurnnp MAX 250q qz Zunn 400000 1 400.0
383ttroo/2 h1h\upnhru3|rtr hZhop 12-20\q qZ Zurur 20000 1 20.0

222OOOOO/t Unur{ntn UU Zruu 200 129 25.8
222O0O0O/2 ![n1nu Untfhtrhh uu Zuur 200 26 5.2
222OO0OO/3 Zurluruuluhlr trd2\ urqlrunrplnrtr UU Zrutn 1800 2 3.6
222OOOOO/4 Zurl ruuuruhh thhuurpurtru\ruh Zruh+hu uu Zurur 1800 2 3.6
222OOOOO/s Zurluruururbhh €frdJrulqurtr Zuhrlhu uu Zr:rtn 1800 2 3.6
222OOOOO/6 dmphrul op2)ht tuhilhh UU Zrutn 27000 6 162.O
222O0OOO/7 dmptnul opqrutrlryhuln1 tuhilhh UU Zruur 27000 6 162.0
222OOOOO/8 Stunrituqhul UU Zruur 22860 4 91.44
4422Ltrr/r O'tuhh lurhntlpJr UU hruur 150 70 10,5

4422t141/L 9urhntlplr pntnu\ rq1 urutnfr\ h UU hurur. 1_30 80 L0,4

44331.400/L Urrnr-ilhhh runn$h1 fl-ur&h UU hruur 700 3 2,t
44531.1J0/t 'lurnlunub rhrlttnh uu hurur 5 3s00 17,5

391sL220/t
'hupur\h "l*hh:.hhp
11 f uruilhurruq urltr rutr uu hrlur 7 200 !,4

39ts1220/2 fhln nnnhl qtrnhh urtlnn 45x400 UU hurtn 1150 40 46.O

391,sr220/3 Lurtthhurqd urb'IU'|"I 3 660x1830x18 rftI UU hr:rur 32000 L2 384.0
391.5L22O/4 I-unlhhurgqurb'[qq 2800x2070x3 ilil UU hurur 9000 5 45.0
391.51220/5 Uhrlurhurburbb 3660x600x26 rftI UU arlultn 30000 6 180.0
39tsL22O/6 bqpur2hpu n BX 22x0,4rftI uu Uhurn 150 405 60,75

39Lst22O/7" 9urhntlph Uguriluru (&nn) 5tltl .uu hurur 40 70 2,8

42921290/t trurp&p dtr2tlurb quqh Lurnqurdnph) qZ . hurtn 60000 L 60.0
44423240/1 Uutnhdurtr ul Zrlur 26000 1 26,0

325s0000/1 Zhnurlunulr urutr urFuru qZ Zrutn 5 8000 40,0

2432L660/92 Unhhurlr 2frdnr-11 urlfrtr url pnr-tifrtr qZ rIq 50 4700 235,0

24321660/82 Lhllntrh qufrlhhp qZ Zruur 200 100 20,0

24327660/83

.lru\nr-furlhtt Sht-*pdurh ulullupuru
500ttr

qZ Zrurn 21000 1 21,0

24321660/84

fhlurpur&ur3trruSfrtr ilruppnrl urupp 600il1
bunlrutnrl

qZ Zurur 3s000 1 35,0

24327660/85

qril'\ruh1hLul f b o1h$f hu1 f lr

brurlt*ph>ltbp rlhrur hhnfr huilrup
qZ Zuur 25000 1 25,0

24321660/86 Lhr ntrh dhilrnruhluhh $hr urn qZ Zrurn 150 100 15,0
24321660/87 Uhhnruhruthtr ortuhml dhrur hhn qZ Zruur 10000 1 10,0
24327660/88 Urrntilhtrh uhqhrhhn qZ Zruur 1300 100 130,0

Orunurlnrplnthhhp 49,478.46

65211100/1 Qurqfrpur2]umd uu 4nrrrt[ 9332200 I 9332,2

6s31 1 100/1

h1h\urpru\ruhntp3 rutr pru2]untti UU +Funi 2024100

0

1 20247,0

651 1 1 100/1 fuilhtnr pnh purzlumrl uu 4nuril 3s37000 1 3537,0

64271100/1

Zuhprul fr hhhnrulunuru3 frtr
burnrulmplmtrtrhn

qz 'Ipruri 2756800 1 2756,8



s0311t20/r hurilur\urFq:u{ hh uurpphpfr
qurhulutrilrutr h {hpubnpnqilruh
burnurlmtatmtrtrhn

uu 'Ipruri 720000 1 720,0

9051 1 150/1 Unph {rlo*nptfruh brunurlmplnr-hhhp UU 'Ipuni 951700 I 957,7

79981100/1 purdrutrnp4urqpilurh Eurnrul mp3nr-hhhp UU 'Ipunf 957900 1 957.9

72671100/1 hurilur\ruFll:ullhh tnhfu hfr\ur\urh
o durh4urb tiur h Eurnurl mpt nthhhn

uu 'Ipruil 900000 1 900,0

60411200/r Urlfrunnndu uu 'Ipruri 100000 1 100,0

604rr200/2 Ut|}nlurntlu uu 'Ipurd 150000 4 600.0

487 611 00/1 hurlpr{rpnruru; }rh hrutfur\ruF q:rrl hL
bnurqnrur hh rhruBhBhhn

UU hrutn 12000 40 480.0

7982tr70/1 Sulurqpu\uh tr

urnurpilurtrEurnurlmpq nthhhp (hpuhtutrq)
UU huur 7 10000 70.0

7982rr70/2 Squrqpur\urtr h
runurpilurhburnurlmplnttrhhp (hpurhuhq)

uu huur 6 2500 15.0

7982rr70/3 Suluqpur\rutr h
runurprftuhburnur1 nr-p1 nttrtrhp (hpruhrutrq)

UU hunn 10 1000 10.0

85141300/1 'Ihqruqnpbur\ruhburnurl nr-pl nthhhp qZ hurur 72 100000 7200.0

85r41300/2 'Ihrlurqnpbur\urhburnru3 mpl nthhhp qZ hurtn 20 25000 500.0

85141300/3 'Ih4urqnpbur\urhbrunuJ nLpJ mtrtrhp qZ hurtn 3.7 10000 37.0

72261110/1 Opruqprul lrhruuprhnr{riurhbun ruJ nLIa3 nr-htr

hn
uu hurur 20000 2 40.0

72261110/2 Opurqpurl |rtrurulurhn{ilurhbunuJ nLI}3 nthh
hn

uu hurtn 10000 1 10.0

7 6t3rt00/1 Qru qruuulurnriru hhurt[ur\urp qbtrrhlu hhrrr\
urll urhuutr ururup! ilruhbrunurlntplmh

uu rlFuni 94856 1 94.856

7731.1200/7 Surpurbplr purph\rupqilurtr brunurSmplnrtr UU Zruur 150000 1 150.0

773t120012 Surpurbpfr pruph\rupqilruh burnrul ntplmtr uu 411ltn 50000 I 500.0

s0111260/r Zhrlm\ ruqnrn urFulu+Fnr1 uruppfr
r]hnurhnnnqmri

uu Zrutn 2s000 1 25.0

99600000/1 Urt butuuhn g?o 'Ipunl 1 900000 900,0

eL.LUUbLC 122,569.702


